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1. wvar

a, b : integer:;

begin
read(a) ;
b = (a * (a * a)) + 1;
1f'b mod '3%='0-then b := b div, 3;
if bmod 5 = 0 then b := b div 5;
if b mod 7 = 0 then b := b div 7;
if b mod 9 = 0 then b := b div 9;
if b mod 11 = 0 then b := b div 11;
if b mod 13 = 0 then b := b div 13;
if b mod 15 = 0 then b := b div 15;
writeln((100 * a - b) div 2);

end. '

WA 10

i’ﬁﬁﬂj:

2. war

sStr @ string:
i : integer;
begin
str := 'Today-is-terrible!';
for i := 7 to 11 do
if str[i] = '-' then str[i - 1] := 'x';
for i := 13 downto 1 do
if str[i] = 't' then str[i + 1] := 'e';
writeln(str) ;
end
By H
3. var
a; by e,ips-q :*integer;
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ri: arrayl0..2] -of integer:;
begin
read(a, b, c);
p. = addivib'divie;
q.:=b-c+ a+ p;
r{0] :=a * p div g * g;
T [ 1] RO (e [0] =300} ;
if (3 * g - pmod 3 <= r[0]) and (r[2] = r([2]) then
efil*=_x[r{0] div p med"2]
else r[l] := q meod p;
writeln(r([0] - r[1]):
end.
BIA: 100 7 3
Hv -

4. war
stri s String;
len, i, j : integer;
nchr : array [0..25] of integer;
mmin : char;
begin
mmin := 'z';
readln(str); len := length(str);
i := len;
while i >= 2 do begin
if strfi: = 1] < strli] then break; dec(i);:
end;
if i = 1 then begin
writeln('No result!'); exit;
end;
for j:3="1-tor i — 2 do write(strl[i]l):
fillchar (nchr, sizeof (nchr), 0):
for j := i to len do begin
if (strl[j] >.strl[i’' - 1]) -and (stx{jl < mmin) thehn
mmin := str[j];

inc{nchrford (strijl): = ord('a")]);

end;
dec(nchr{ord (mmin) - ord('a')]):
inc(nchr[ord(str[i - 11) - ord('a")]):
write (mmin) ;
for i := 0 to 25 do

for j = 1 to nchr[i] do

write(chr(i + ord('a'))):;
writeln;
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end.
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var
: integer;
begin

read (n) ;

if n = 2 then writeln()
else if () or (n mod 2 = 0) then writeln('NO"')

else begin
i =2 3%
while i * 1 <= n do begin
if then begin
writeln ('NO'); exit;
end;
i = 4i + 2;
end;
writeln ('YES'):;
end;

end.
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var

n, k : integer;
len : array [1..10000] of integer;
i, left, right, mid : integer;

function isok(t : integer) : boolean;
var

num, i : integer;
begin

num := 0;

for i := 1 to n do begin

if num >= k then break;

end;

if then isok := true

else isok := false;

end;
begin
readln(n, k):
right := 0;
for i := 1 to n do begin

readln(len[i]);
if right < len[i] then right

len[i];

end;

inc(right); [ ® |
while < right do begin

mid := (left + right) div 2;
g f then right := mid
else left := mid;

end;

writeln(left):;
end.
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